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The figures 1
for the questions

UNIT—I

two of the following questions :

1. Answer any
2x2=4
(@) Name some SOurces of demographic
data.
() What do you understand by population
composition?
(c) What is the dependency ratio and how
do you calculate it?
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2. Answer any one of the following questions : 6

3.
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(a) Distinguish ; between - coverage errors
and content errors in demographic data.
Also suggests some remedies to
overcome these errors. 4+2=6

(b) How is sex-ratio measured? What are its
implications on a population? 2+4=6

UNIT—II

Answer any two of the following questions :
2x2=4
(a) Discuss the sources of obtaining raw
data of vital statistics.

(b) “Crude death rate is not a probability
rate.” Why?

(c) Define the age-specific death rate.

Answer any one of the following questions : 6

(a) Define standardised death rate.
Describe the indirect method of
standardised death ratec of two regions
(say A and B). 2+4=6

(b) Define infant mortality rate. What are
its merits and demerits? 2+2+2=6

( Continued )
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5. Answer any two of the following questions :

2x2=4
(@) State some assumptions used in the
construction of a life table.

() Define force of mortality.

(c) Distinguish between stationary and
stable population.

6. Answer any one of the following questions : 6
(a) Describe the various columns of a life
table and explain how a life table can be
constructed from data usually available.
3+3=6
(b) If n, is the force of mortality at age x
and m, is central mortality rate, then
prove that
u 1) =My
[x«(-a)
UNIT—IV
7. Answer any two of the following questions :
2x2=4
(a) Define total fertility rate.
(b) What are the merits and demerits of
crude birthrate?
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(c) Distinguish between complete and

abridged life tables.

Answer any one of the following questions :

ed-Mei"relll method of

1) Derive the Re 1 1
o sl ridged life tables.

construction of ab

al fertility rate along with

(b) Explain gener '
mention

its merits and demerits. Also.
ways to overcome its demerits.

UNIT—V

9. Answer any two of the following questions :

2+2+2=6

2x2=4

(a) Define crude rate of natural increase.

(b) Explain why gross reproduction rate is a
hypothetical figure.

(0 Define net reprodﬁction rate.

10. Answer any one of the following questions :
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(@) Write a note on gross reproduction rate.

Show that GRR = NRR. 3+3=6

(b) “NRR indicates the growth of the
population.” Explain. Also explain the

demerits of NRR. ' | 3+3=6
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